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Rubric 
Task is worth a total of 3 points. 
 

  Mixed Number to Fraction 

Score Description 

 

 
 
 
 
 
 
 
 
 
 

3 

Student response includes the following 3 elements. 
 

• Reasoning component = 1 point 
o The student explains the error in Simone’s reasoning. 

• Computation component = 1 point 
o A correct equivalent fraction. 

• Reasoning component = 1 point 
o The student describes another way to convert a mixed 

number to a fraction. 
 
Sample Student Response: 
 
 “Simone made an error when she converted 4 to a fraction. She 
should have multiplied 4 3×  before she put that over a denominator 
of 3.” 
 

4 3
3

12 1
3 3

1 14
3 3

13
3

×= +

= +

=

 

 
Another way I can write the equivalent fraction is to write 4 as the 
sum of 1 1 1 1+ + +  and then write each 1 as the sum of 
1 1 1 .
3 3 3

+ +  

 

( ) ( ) ( ) ( )1 1 1 1 1 1 1 1 1 1 1 1 1
3 3 3 3 3 3 3 3 3 3 3 3 3

1 14 1 1 1 1
3 3

13
3

= + + + +

= + + + + + + + + + + + +

=

  

or other valid equivalent explanations. 
 



 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
  

 
2 

  Student response includes 2 of the above elements. 

 
        1 

  Student response includes 1 of the above elements. 

 
        0 

  Student response is incorrect or irrelevant. 



 
  

 

 
 
 
 

Anchor Set 
A1 – A8 

 
With Annotations 

 
 
 
 



A1 

Score Point 3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

 



Annotation 

Anchor Paper 1 
 
Score Point 3 
 
This response receives full credit. The response includes each of the three 
required elements. 
 

• The error in reasoning is correctly explained (4 should have changed to 
12 thirds not 4 thirds). 
 

• The correct equivalent fraction of 3
13  is found (13 thirds). 

 
• A valid description of another way to convert a mixed number to a 

fraction is provided (4, the whole number times 3 the denominator to 
get the numerator which is 12 because 4 x 3 = 12 and 12 thirds plus 1 
third equals 13 thirds). 
 

 



A2 

Score Point 3  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 



 
Annotation 

Anchor Paper 2 
 
Score Point 3 
 
This response receives full credit. The response includes each of the three 
required elements. 
 

• The error in reasoning is correctly explained (took the 4 as a numerator 
not as an [whole] number). 
 

• The correct equivalent fraction of 3
13  is found ( 3

13  would be the correct 
fraction of 4 3

1 ). 
 

• A valid description of another way to convert a mixed number to a 
fraction is provided (4 3

1  = 3
3  + 3

3  + 3
3  + 3

3  + 3
1  = 3

13 ). Compare this 
method to the Sample Student Response in the rubric. The sample 
rubric includes ( 3

1  + 3
1  + 3

1 ), which is equivalent to 3
3  in this response. 

 

 

  



A3 

Score Point 2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

 



Annotation 

Anchor Paper 3 
 
Score Point 2 
 
This response receives partial credit. The response includes two of the three 
required elements. 
 

• The correct equivalent fraction is found ( 3
13 ). 

 
• A valid description of another way to convert a mixed number to a 

fraction is provided (multiply the number of wholes and dinomonator 
and add the numerator). 
 

The response does not correctly explain the error in reasoning. The 
explanation provided (she did 4 + 3

1 ) is not an error, it is one of the correct 
steps in Simone’s process. 
 

 



A4 

Score Point 2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

 



Annotation 

Anchor Paper 4 
 
Score Point 2 
 
This response receives partial credit. The response includes two of the three 
required elements. 
 

• The error in reasoning is correctly explained (4 = 3
12  ≠ 3

4 ). This 
mathematical statement means that 4 equals 3

12  but is not equal to 3
4 . 

 
• The correct equivalent fraction is found ( 3

13 ). 
 
The response does not clearly describe another way to convert a mixed 
number to a fraction. Although some work is present (4 = 3

12 , 3
12  + 3

1  = 3
13 ) , 

the student does not explain how 4 is converted to 3
12 . 

 

 



A5 

Score Point 1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

 



Annotation 

Anchor Paper 5 
 
Score Point 1 
 
This response receives partial credit. The response includes one of the three 
required elements. 
 

• The error in reasoning is correctly explained (she thought 3
4  was 

equivalent to 4). 
 
The equivalent fraction provided is incorrect ( 3

12 ).  
 
The response provides an incorrect description of another way to convert a 
mixed number to a fraction. The method presented describes multiplying the 
whole number and the denominator ( 1243 =× ); however, there is no mention 
of adding 1, the numerator of 3

1 . This is an important step in the method and 
must be present to receive credit for this element. 
 

 



A6 

Score Point 1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

 



Annotation 

Anchor Paper 6 
 
Score Point 1 
 
This response receives partial credit. The response includes one of the three 
required elements. 
 

• A valid description of another way to convert a mixed number to a 
fraction is provided (multiply the denomenator with the whole number 
first, then you have to add the numerator). Compare this description to 
Anchor 4. 
 

The response does not attempt to explain the error in reasoning. 
 
The correct equivalent fraction is not provided.  
 

 



A7 

Score Point 0 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

 



Annotation 

Anchor Paper 7 
 
Score Point 0 
 
This response receives no credit. The response includes none of the three 
required elements. 
 
The attempt to explain the error in reasoning is incorrect (change the whole 
number 4 into a fraction, and that can not be done). Changing the whole 
number into a fraction is a correct step in the reasoning. The error is in the 
value of the fraction the whole number is changed to because 3

44 ≠ . This 
response does not make that identification and therefore may not receive 
credit for this element. 
 
The correct equivalent fraction is not provided. 
 
There is no attempt to describe another way to convert a mixed number to a 
fraction. 
 

 



A8 

Score Point 0 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 

 



Annotation 

Anchor Paper 8 
 
Score Point 0 
 
This response receives no credit. The response includes none of the three 
required elements. 
 
The attempt to explain the error in reasoning is incorrect (SHE WAS’NT 
SUPPOST TO ADD THE TWO FRACTIONS TOGETHER). Adding the fractions 
together is a correct step in Simone’s work to convert the mixed number to a 
fraction. 
 
The correct equivalent fraction is not provided. 
 
There is no attempt to describe another way to convert a mixed number to a 
fraction. 
 

 

  



                                          
 
 
  

Practice Set 
P101 - P105 

 
No Annotations Included 

 
 

                           
 



P101 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 



P102 
 

 

 

 



P103 
 

 

 

 



P104

 

 



P105  
 

 



 
Practice Set 

 

Paper Score 

P101 2 

P102 1 

P103 3 

P104 0 

P105 1 
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